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1 e | E5R F2 R 2K | ;8B [100EXREFR| FAH | 100
2 b | BEX |[100EXRER EK | BEX 100EXREFER 7 400
3 | d | iEe5xX |100EREFER £AK | ie5XX [100ERER| AEAF | 200
4 c 25X |100FERIER| K | 85X [100FERIER| #+T | 200
5 d 25X |100FERIFER| EK | 85X | 100FERIFER| @AM | 200
6 c g5 |100ERER| 2K | 885K | ERKHE | @+ | 100
7 e o5 |100FERIER| AKX | 85X | BERKHE | @+ | 100
8 d g5 |100FERER| K | i85 [100FERIFER| #+T | 100
9 c 25X |100FERER| AKX | 85X | BERKHE | @F | 100
10 | e 25X |100FERIFER| EK | 85K | HEHHE | @M | 100
11| ¢ 25X |100ERER| 2K | 85X | BERHE | @F | 100
12 | d SR |100ERER| 2K | &i5X | BERFHE | @F | 100
13 | e 25X |100ERER| AKX | 85X | BERHE | @F | 100
14 | ¢ 25X |100FERIFER| EK | 85K | HEHHE | @M | 100
15 | e 2ERX | 100EREFEHR | BEX | 88X | BREHHE | @ | 100
16 | ¢ 25X |100ERIFER| EK | B85 | HEHHE | @M | 100
17 | e 2ERX | 100EREFEHR | BEX | 88X | BREHHE | @ | 100
18 | a —ERRS LY/ —fERRE +2Z | 1,000
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